Kennedy Valve
A Division of McWane, Inc.

UL/FM PRODUCTS

1021 East Water Street

Elmira, NY 14902
Phone: (607)734-2211
Fax: (607)734-3288
Fax: (800)952-4771
E-Mail: sales@kennedyvalve.com
www.kennedyvalve.com

PRICE LIST: WW 021012
EFFECTIVE DATE: February 10, 2012


http://www.kennedyvalve.com/

TERMS AND CONDITIONS

These prices supersede and cancel all previous prices for these products. Prices and designs are subject to change without
notice.

All material will be invoiced at prices in effect on the date of shipment unless a prior written agreement is in effect.
All contracts, orders or agreements are subject to approval by the Kennedy Valve office in EImira, New York.

All orders once entered; are subject to a 25% cancellation charge, and are subject to increased charges depending on the
status and type of material ordered.

Payment terms are as follows: freight allowed in the USA, except Alaska or Hawaii, on orders of 20,000 pounds or more, on
orders of 5,000 — 19,999, freight allowed with next truck into the area. Orders of less than 5,000 will be prepay and add. NO
FREIGH ALLOWANCE ON ORDERS FOR PARTS. Kennedy reserves the right to determine routing.

Invoice Dates Terms

1% thru 15™ 2%, 30™ of that month; net 15" of the following month
16" thru 31% 2%, 15" of the following month; net 30™ of the following month

Further, a 1 %2% penalty will be applied to all invoices over 30 days past due.

The amount of any sales, excise or other taxes, if any, applicable to the products covered by this order, shall be added to the
purchase price, and shall be paid by Buyer unless Buyer provides Kennedy with the exemption certificate acceptance to the
taxing authorities.

TERMS AND CONDITIONS CONT.

All shipments are carefully examined, counted, and packed. The cost of any special packing or special handling caused by
Buyer’s requirements or requests shall be added to the amount of the order. No claim for shortages or errors in shipment will
be all owed unless made in writing within five (5) days of receipt of shipment. For other than truckload shipments, claims
for products damaged or lost in transit should be on the carrier, as Kennedy’s responsibility ceases, and title passes, on
delivery to the carrier.

Shipments to customers shall be at all times subject to the approval of the Kennedy Valve Credit Department.

Schedules of deliveries are estimates only, and do not constitute a guarantee that shipment will be made with the time given.
Product offered from stock is subject to prior sale. Kennedy will make every effort to complete delivery of products as
ordered, but Kennedy assumes no responsibility or liability, and will accept no back charge, for loss or damage due to delay
or inability to deliver caused by acts of God, war, labor difficulties, accidents, delay of carriers, by contractors or suppliers,
inability to obtain materials, shortages of fuel and energy, or any other causes of any kind whatever beyond the control of
Kennedy. Kennedy may terminate any contract of sale of its products without liability of any nature, by written notice to the
Buyer, in the event that the delay in delivery or performance resulting from any of the aforesaid causes shall continue for a
period of sixty (60) days. Under no circumstances shall Kennedy be liable for any special or consequential damages or for
loss, damage, or expense (whether or not based on negligence) directly or indirectly arising from delays or failure to give
notice of delay.



LIMITED WARRANTY

Kennedy Valve warrants that the goods furnished hereunder, will be free from defects in material and workmanship, and will operate freely without
failure or leakage under the service conditions they were installed under.

If within one (1) year from date of initial operation, but not more than eighteen (18) months from date of shipment by Kennedy Valve of any item of
product(s), the purchaser discovers that such item(s) was not as warranted above, notifies Kennedy Valve in writing within 30 days from date
purchaser discovered; or should have discovered, then Kennedy Valve shall remedy such nonconformance by, at Kennedy Valve’s option,
adjustment or repair or replacement of the item and any affected part of the product(s) within 30 days of such notice. Purchaser shall assume all
responsibility and expense for removal, reinstallation and freight in connection with the foregoing remedies.

Kennedy Valve shall not be liable for incidental or consequential losses, damages, or expenses, directly or indirectly arising from the sale, handling
or use of the goods, of from any other cause relating thereto, and Kennedy Valve’s liability hereunder in any case is expressly limited to replacement
(in the form originally shipped) of goods not complying with this agreement, or, at Kennedy Valve’s election, to the replacement of, or crediting
Purchaser with, an amount equal to the purchase price of such goods whether such claims are for breech of warranty or negligence.

Kennedy Valve reserves the right to change material composition without prior notice as long as it meets applicable standards.

TEN YEAR LIMITED WARRANTY ON KENNEDY K81A & D GUARDIAN FIRE HYDRANT

Kennedy Valve Company warrants that its Kennedy Guardian Fire Hydrant will be free from defects in material and workmanship under normal and
customary use and maintenance for a period of ten (10) years from the date of purchase, provided the hydrant is installed and maintained according
to Kennedy Valve instructions, and applicable codes. The foregoing warranty does not cover failure of any part or parts from external forces,
including but not limited to earthquakes, vandalism, vehicular or other impact, application of excessive torque to the operating mechanism or frost
heave.

Should any Kennedy Valve Company part or parts fail to conform to the foregoing warranty, Kennedy Valve shall, upon prompt written notice
thereof, repair or replace, F.O.B. point of manufacture, such defective part or parts. Purchaser shall, if requested, return the part or parts to Kennedy
Valve, transportation prepaid. Purchaser shall bear all responsibility and expense incurred for removal, reinstallation and shipping in connection
with any part supplied under the foregoing warranty.

THE FOREGOING WARRANTY IS IN LIEU OF AND EXCLUDES ALL OTHER WARRANTIES NOT EXPRESSLY SET FORTH
HEREIN, WHETHER EXPRESS OR IMPLIED BY OPERATION OF LAW OR OTHERWISE, INCLUDING BUT NOT LIMITED TO
ANY WARRANTIES OF MERCHANTABILITY OR FITNESS. IN NO EVENT SHALL KENNEDY VALVE COMPANY BE
RESPONSIBLE OR LIABLE FOR ANY INCIDENTAL OR CONSEQUENTIAL LOSSES, DAMAGES, OR EXPENSES.

Kennedy Valve Company warrants that its Resilient Wedge valves will be free from defects in material and workmanship under normal and
customary use and maintenance for a period of ten (10) years from the date of purchase, provided the valve is installed and maintained according to
Kennedy Valve instructions, and applicable codes. The foregoing warranty does not cover failure of any part or parts from external forces, including
but not limited to earthquakes, vandalism, vehicular or other impact, application of excessive torque to the operating mechanism or frost heave.

Should any Kennedy Valve Company part or parts fail to conform to the foregoing warranty, Kennedy Valve shall, upon prompt written notice
thereof, repair or replace, F.O.B. point of manufacture, such defective part or parts. Purchaser shall, if requested, return the part or parts to Kennedy
Valve, transportation prepaid. Purchaser shall bear all responsibility and expense incurred for removal, reinstallation and shipping in connection
with any part supplied under the foregoing warranty.

THE FOREGOING WARRANTY IS IN LIEU OF AND EXCLUDES ALL OTHER WARRANTIES NOT EXPRESSLY SET FORTH
HEREIN, WHETHER EXPRESS OR IMPLIED BY OPERATION OF LAW OR OTHERWISE, INCLUDING BUT NOT LIMITED TO
ANY WARRANTIES OF MERCHANTABILITY OR FITNESS. INNO EVENT SHALL KENNEDY VALVE COMPANY BE
RESPONSIBLE OR LIABLE FOR ANY INCIDENTAL OR CONSEQUENTIAL LOSSES, DAMAGES, OR EXPENSES.



Kennedy Valve

UL/FM PRICE LIST UA-021012
EFFECTIVE DATE 2-10-12

SUPERCEDED UA-0503 DATED 3-18-05

KS-FW OS&Y (RISING STEM) RESILIENT SEATED GATE VALVE PARTS

$47
$96

$3
$117
$2
$2
$293
$12
$12
$44
$22
$12
$7
$176
$594
$8

3280762
328772P

445938P
3280702
444350P
477495P
3325052
440241P
442430P
3281402
447072P
442790P
442756P
2280502
3341053
443475P

$47
$156
$15
$4
$147
$2
$2
$352
$12
$12
$47
$22
$16
$9
$290
$628
$8

3280763 $47 3280763
328773P $156  328773P
445943P $15  445943P
440437P $4  440437P
3280712 $147 3280712
444350P $2  444350P
477495P $2  477495P
3325062 $381 3327082
440241P $12  440241P
442430P $12  442430P
3281412 $24 3281412
447074P $22  447074P
442760P $16  442610P
442757P $323  442757P
2280512 $301 2280522
3341063 $7 3341083
443475P $8  443475P

Description

R-1 Handwheel Nut
R-2 Handwheel
R-3 Upper Thrust Washer (Brass)
R-4 Lower Thrust Washer
R-5 Yoke Nut
R-6 Cover Hex Bolts

Cover Nuts
R-7 Cover
R-8 Packing Sq. Hd Bolts
R-8 Packing Brass Hex Nuts
R-10 Packing Gland (1 pc)
R-11 PackinG
R-12 Cover O-ring
R-13 Stem O-ring
R-14 Stem
R-16 Body - Flg X Flg Tapped
R-17 Plug

Description

R-1 Handwheel Nut
R-2 Handwheel
R-3 Upper Thrust Washer (Brass)
R-4 Lower Thrust Washer
R-5 Yoke Nut
R-6 Cover Hex Bolts

Cover Nuts
R-8 Packing Sqg. Hd Bolts
R-8 Packing Brass Hex Nuts
R-10 Packing Gland (1 pc)
R-11 Packing
R-12 Cover O-ring
R-13 Stem O-ring
R-14 Stem
R-15 Wedge
R-16 Body - Flg X Flg Tapped
R-17 Plug

$53
$183
$21
$12
$191
$2
$2
$12
$12
$59
$22
$16
$10
$499
$382
$1,060
$8

3280772
328776P
445946P
440438P
3280722
444362P
477497P
440241P
442430P
3281422
447076P
442761P
442758P
2280532
2280942
3341123
443488P

$53
$224
$21
$12
$220
$2
$2
$12
$12
$70
$22
$19
$12
$697
$575
$1,391
$8

3280772 $73 3280782
328778P $350  328780P
445946P $29  445948P
440438P $15  440439P
3280732 $264 3280742
477021P $3  444341P
477497P $2  477497P
440241P $18  440205P
442430P $18  442432P
3281432 $82 3281442
447076P $22  447080P
442762P $22  442764P
442759P $13  442763P
2280542 $938 2280552
2280952 $874 2280962
3341163 $2,307 3341203
443488P $8 443488P

All Parts for a 12" OS&Y are the same as a 10" OS&Y except the following:
12"

Item# Description

R-6 Cover Hex Bolts
Cover Nuts

R-7 Cover
R-12 Cover O-ring
R-14 Stem
R-15 Wedge
R-16 Body - Flg X Flg Tapped

$4

$2
$1,018
$29
$1,058
$1,153
$3,036

Part#
477025P
AT77497P
3325242
442766P
2280562
2280972
3341243




Kennedy Valve

UL/FM PRICE LIST UA-021012
EFFECTIVE DATE 2-10-12

SUPERCEDED UA-0503 DATED 3-18-05

INDICATOR POST PARTS LIST (2945A) VERTICAL POST

PART#
3361270

DESCRIPTION
LOCKING WRENCH

LIST PRICE

P-2
P-3
P-4
P-5
P-6
P-7
P-8

P-9
P-10
P-11A

P-11F

P-12 B POST
P-12 C POST
P-12 D POST

P-12 (ALL OTHERS)
P-13

P-15
P-16
P-17 B POST
P-17 C POST
P-17 D POST
P-18
P-19
P-20
P-21
p-22
P-23

3024872 (4-14')
442639P
3020913
441980P
443370P
443371P
3005802 (4-14")
443347P
440736P
444171P

443476P
440254P
444303P

444306P

221830B
221830C
221830D

*kkk

318035&

444342P
3004774
3004472
3004482
3004492
3180402
444355P
444357P
442484P

*kkk

3004762

OPERATING NUT
RETAINER O-RING #226
TOP SECTION

WINDOW GLASS

OPEN TARGET

SHUT TARGET

TARGET CARRIER ASSEMBLY
TARGET CARRIER NUT
TARGET CARRIER PLATE
CLAMP TARGET RETAINER
#10-24x1/2" PAN HEAD

1/2" NPT PIPE PLUG

3/8" EYEBOLT #23
3/8"-16x1 HEX CAPSCREW
(FIXED POST - F,G,&H)
3/8"-16x11/2" HEX CAPSCREW
(FIXED POST - F,G,&H)
STEM 1" SQ - 66.25"

STEM 1" SQ - 84.25"

STEM 1" SQ - 102.25"
STEM 1" SQ

CRANE COUPLING

3/4" HEX HEAD SCREW
TELESCOPING BARREL

STANDPIPE SECTION D.l. ADJUSTABLE
STANDPIPE SECTION D.I. ADJUSTABLE
STANDPIPE SECTION D.l. ADJUSTABLE

BASE FLANGE

5/8 x 1" HEX HEAD SCREW
5/8"x2 1/4" HEX CAPSCREW
5/8" HEX NUT

STANDPIPE SECTION (FIXED POST F,G,&H)
STANDPIPE SECTION (FIXED POST F,G,&H)

$331
$13
$440
$13
$26
$26
$381
$205
$32
$29
$3

$6
$59
$6

$6

$292
$348
$395
POA
$88

$13
$528
$354
$383
$413
$352
$13
$2
$2
POA

$103

*kkk

PART NUMBERS CHANGE BASED ON POST FURNISHED



Kennedy Valve UL/FM PRICE LIST UA-021012
EFFECTIVE DATE 2-10-12
SUPERCEDED UA-0503 DATED 3-18-05

VERTICAL INDICATOR POSTS - EXTENSION KITS

LENGTH PART# LIST
18" 1590018641EXT $ 846.00
24" 1590024641EXT $ 964.00
30" 1590030641EXT $ 1,078.00
36" 1590036641EXT $1,210.00
42" 1590042641EXT $ 1,333.00
48" 1590048641EXT $ 1,456.00

NOTE: ABOVE EXTENSION KITS INCLUDES ALL NECESSARY GASKETS AND
NUTS & BOLTS ALONG WITH THE STEM, BARREL, AND COUPLING.

EXTENSION STEM COUPLING $ 48.00
EXTENSION PIPE COUPLING $ 302.00
PIPE COUPLING SET SCREWS $ 10.00

641 WALL POST PARTS PRICE LIST

ITEM # PART# DESCRIPTION LIST PRICE

WP-1 440253P EYE BOLT $
WP-2 477495P NUT 1/2-UNC PLATED $ 2
WP-3 445834P WASHER 5/8 O PLATED $ 4
WP-4 3360150 HANDWHEEL - 14" DIAMETER $ 201
WP-5 3180283 COVER $ 154
WP-6 443599P RETAINING RING $ 34
WP-7 3180165 OPERATING STEM NUT $ 331
WP-8 442482P NUTS 1/2-UNC PLATED $ 2
WP-9 444419P BOLT 1/2-UNC x 2" $ 7
WP-10 444348P BOLT 1/2-UNC x 1.75" $ 2
WP-11 3180204 TOP SECTION $ 888
WP-12 3180172 TARGET NUT $ 205
WP-13 441982P WINDOWS - FLAT $ 8
WP-14 444435P SCREWS $ 4
WP-15 441587P FERRULE $ 9
WP-16 443344P PROTECTIVE STEEL PLATE $ 10
WP-17A 443348P TARGET PLATE - OPEN $ 26
WP-17B 443350P TARGET PLATE - SHUT $ 26
WP-18 440734P CLAMPS - PLATED $ 6
WP-19 442576P NUTS 1/4-20 UNC $ 3
WP-20 444432P MACH SCREW 1/4-20 x 7/8 LG $ 3
WP-21 443476P PIPE PLUS - 1/2 NPT $ 6
WP-22/23/24 2180912 S/A STEM $ 157

WP-22/23/24  445312L STEM (ORDER BY LENGTH) POA

WP-23 442190P COTTER PIN 1/4 x 3 LG $ 9
WP-24 318035& CRANE COUPLING $ 88




PARTS LIST FOR 1126/1126A CHECK VALVES

CAP BOLTS (EACH) T 460228P  $2 (4 REQ) | 460231P  $2 (4 REQ) | 444430P  $2 (8 REQ)
CAP, BONNET OR COVER 2 3103330 $96 3103330 $103| 3103340 $167
CAP O-RING 3 442790P $13 442790P $15| 442611P $15
BODY 5 3102052 $508 3102062 $660| 3102082 $1,000
HINGE PIN 6 445101P $41 445102P $49| 445103P $65
HINGE W/BUSHING 7817 N/A N/A N/A N/A 2163559 $164
BUSHING (NOT SOLD IND) 27 NOT SOLD SEPARATELY, INCLUDED WITH HINGE

HINGE 8 3163522 $93 3164222 $109] N/A N/A
DISC NUT 10 OR 24| 460209P $12 460209P $12| 460209P $12
DISC BRONZE (126) 11 OR 18| 3121022 $73 3120442 $122| 2115793 $203
SEAT RING (126) 12 3146631 $33 3146641 $68| 3145574 $74
SEAT RING (126A) 12 3146633 $33 3146643 $68| 3145573 $155
SEAT RING O-RING 12A N/A N/A N/A N/A 442714P $23
DRAIN PLUG 13 443480P $11 443488P $11| 443488P $11
O RINGS 140R 25| N/A N/A N/A N/A 442634P $6
DISC BOLT (126) 15 N/A N/A N/A N/A 3154632 $50
RUBBER DISC (126A) 21 440882P $37 440880P $37| 440975P $76
DISC HOLDER (126A) 20 3120432 $102 3118382 $122| 3116054 $146
DISC PLATE (126A) 22 3157232 $56 3157092 $59| 3157022 $76
DISC BOLT (126A) 23 N/A N/A N/A N/A 3154633 $48
SIDE PLUGS (EACH) 28 3160885 $37 3160885 $37| 3160905 $46
SIDE PLUG O-RINGS (2 pc) 29 442731P $5 442731P $5| 477531P $9

6" 8" 10"

CAP BOLTS (EACH) 1 460236P  $2 (4 REQ) | 460247P  $2 (4 REQ) | 460247P  $2 (6 REQ)
CAP, BONNET OR COVER 2 3103360 $281| 3103380 $354| 3103400 $545
CAP O-RING 3 442794P $19| 442768P $23| 442769P $35
BODY 5 3102122 $1,684| 3102162 $2,626| 3102202 $4,342
HINGE PIN 6 445105P $103| 445106P $141| 3167772 $192
HINGE W/BUSHING 7817 | 2163579 $219| 2163589 $266| 2163699 $403
BUSHING (NOT SOLD IND) 27 NOT SOLD SEPARATELY, INCLUDED WITH HINGE

HINGE 8 N/A N/A N/A N/A N/A N/A
DISC NUT 10 OR 24| 460210P $13| 460210P $13| 460211P $16
DISC BRONZE (126) 11 0R 18| 2115813 $242| 2115823 $285| 2116093 $454
SEAT RING (126) 12 3145584 $91| 3145594 $160| 3146694 $219
SEAT RING (126A) 12 3145583 $194| 3145593 $279| 3146693 $368
SEAT RING O-RING 12A | 442658P $15| 442716P $16| 442677P $16
DRAIN PLUG 13 443488P $11| 443488P $11| 443488P $11
O RINGS 14 OR 25| 442636P $6| 442636P $6| 442638P $6
DISC BOLT (126) 15 3154592 $55| 3154602 $65| 3152862 $93
RUBBER DISC (126A) 21 440976P $118| 440887P $154| 440898P $189
DISC HOLDER (126A) 20 3116064 $322| 3116074 $418| 3116094 $524
DISC PLATE (126A) 22 3157032 $154| 3157042 $249| 3157052 $339
DISC BOLT (126A) 23 3154593 $128| 3154603 $152| 3152863 $160
SIDE PLUGS (EACH) 28 3160955 $63| 3160685 $86| 3160765 $117
SIDE PLUG O-RINGS (2 pc) 29 442642P $9| 442625P $10| 442659P $9




Kennedy Valve UL/FM PRICE LIST UA-021012
EFFECTIVE DATE 2-10-12
SUPERCEDED UA-0503 DATED 3-18-05

PARTS LIST FOR 1126/1126A CHECK VALVES

12"
DESCRIPTION ITEM PART PRICE

[CAP BOLTS (EACH) 1 460247P $3 (6 REQ)
CAP, BONNET OR COVER 2 3103420 $662
CAP O-RING 3 442770P $41
BODY 5 3102242 $5,952
HINGE PIN 6 445108P $284
HINGE W/BUSHING 7817 2163709 $584
BUSHING (NOT SOLD IND) 27 INCLUDED WITH HINGE N/A

HINGE 8 N/A N/A

DISC NUT 10 OR 24 460234P $16
DISC BRONZE (1126) 11 OR 18 2120553 $703
SEAT RING 12 3146704 $263
SEAT RING 0-RING 12A 442679P $10
DRAIN PLUG 13 443488P $11
DISC BOLT (1126) 15 3152872 $139
RUBBER DISC (1126A) 21 440899P $232
DISC HOLDER (1126A) 20 3120554 $694
DISC PLATE (1126A) 22 3157062 $382
DISC BOLT (1126A) 23 3152873 $194
SIDE PLUGS (EACH) 28 3160765 $117
SIDE PLUG O-RINGS (2 pc) 29 442659P $9




INDEPENDENT GATE VALVES

DESCRIPTION PART # PRICE
BOLT-ON 2 12" HOSE GATE VALVE

WITH CAP, CHAIN, AND GASKET Apepes $ 615.00
THREADED 2 172" HOSE GATE VALVE

LESS CAP, CHAIN, AND GASKET AN ¢ Gllsen
THREADED 2 172" HOSE GATE VALVE

WITH CAP, CHAIN, AND GASKET B e § Bzl

DESCRIPTION PART # e

HEX NUT 442486P $5
HANDWHEEL 446040P $28
STUFEING BOX 3195082 $44
HEX HEAD SCREW (EACH) 444354P (2 REQ) $2
HEX NUT (EACH) 442482P (2 REQ) $2
O RINGS (EACH) 442640P (2 REQ) $5
CAP WITH BUSHING 2195222 $97
RUBBER SEAT ONLY 441828P $19
NOZZLE (NST ONLY) 3195275 $125
HOSE NOZZLE CAP, CHAIN, GASKET PARTS CODED INDIV $103
STEM 3195042 $95
CAP TO BODY GASKET 441830P $15
BODY - 109XMNC 3195712 $290
BODY - 109XNS 3195212 $290
BODY - 109XMN 3195712 $290
DISC 3195262 $61
CHAIN 477073P $16
PIN 3159442 $5
BOLT FOR 109XNS 444417P (2 REQ) $8
1/4 TURN BOLT ON ADAPTER 3195392 FOR MOUNTING 109 $200
VALVE TO HYDRANT GASKET 441692P $10

PLEASE SPECIFY THREADING DETAIL AND NUT SIZE WHEN ORDERING
SCREWED BODY, NOZZLE, & CAP.




Kennedy Valve

UL/FM PRICE LIST UA-021012
EFFECTIVE DATE 2-10-12
SUPERCEDED UA-0503 DATED 3-18-05

41/2" &5 1/4" FIGURE K-12 & K-1211 UL/FM FIRE HYDRANT PARTS (DISCONT'D)

DESCRIPTION

PART#

217

3/4/5

3/9

6/14

CAP BOLT W/NUT (EACH)(2 PER)

LOCK NUT W/SET SCREW AND THRUST WASHER

THRUST WASHER ONLY
SET SCREW ONLY

OPERATING STEM NUT W/O RINGS & ALEMITE FITTING

(WET TOP)
O RING - SET OF 2
ALEMITE FITTING
TOP STEM WITH PIN

PIN FOR TOP STEM
COVER PLATE
COVER PLATE GASKET

COVER PLATE BOLTS&NUTS (EACH)(4 PER)

TOP STEM PIN ONLY

HOSE NOZZLE CAP GASKET
STEAMER NOZZLE CAP GASKET
NOZZLE SCREW

HOSE NOZZLE

STEAMER NOZZLE

NOZZLE CAP CHAIN

STANDPIPE GASKET

STANDPIPE BOLT W/NUT (EACH)(8PER)

WRENCH GUIDE SET SCREW
LOWER STANDPIPE SECTION

ELBOW GASKET

ELBOW GASKET W/NUT (EACH)(8 PER)

DRAIN VALVE FACING W/RIVETS

: 2 FACINGS PER HYDRANT

RIVETS (2 PER FACING)

DRAIN VALVE W/FACING & RIVETS

ELBOW DRAIN TUBING

SEAT RING GASKET

MAIN VALVE, NEOPRENE
DRAIN VALVE KEY ONLY

TOP PLATE (5 1/4)

BOTTOM PLATE

SEAT RING

ELBOW W/DRAIN TUBING ONLY

6" MECHANICAL JOINT, FLANGED, OR RINGTITE

"S" HOOK (EACH)

2 HOSE CAPS W/CHAIN & GASKETS (S/A)
STEAMER NOZZLE W/CHAIN & GASKETS

FOR 2 HOZE NOZZLES
FOR 2 HOSE & 1 STEAMER NOZZLE
UPPER STANDPIPE SECTION ONLY

FOR 5' TRENCH OR LESS
ADD FOR EACH 6" INCREASE

(5 1/4 MAIN VALVE OPENING)
(4 1/2 MAIN VALVE OPENING)

(B)444364P (N)442484P
(LN)3185943

445843P

444438P

*

442650P
441670P

3186402-STEM O/L
3186403-STEM O/R
442937P-PIN

3185922 (WET TOP)
441803P

444358P(BOLTS)
442484P(NUTS)
442937P-PIN

(2 1/2) 441790P

(4")441794P (4 1/2")441796P
444284P

*

*

440712P
440711P

(2-WAY)3187812 (3 WAY)3187862
441805P

(B)444358P (N)442484P

444159P

441805P
(B)444358P (N)442484P
442230P
442232P
444528P
(4 1/2)2185782 (5 1/4)2185972
440557P
(4 1/2)441832P (5 1/4)441820P
(4 1/2)445906P (5 1/4)445904P
442218P

3185992
(4 1/2)3316363 (5 1/4)3185932
(4 1/2)3185792 (5 1/4)3185982
(6" BELL NOT AVAILABLE)
*

442159P
SPECIFY SIZE & COLOR
SPECIFY SIZE & COLOR

$11
$65
$8
$4
$278

$17
$5
$173

$166
$17
$12

$7

$8

$15

$7

$110

$225

$26

$29

$987

$17

$12

$4

$1,225

$118

$17

$12
$25/set
$25/set

$216
$5
$24
$144
$5
$67
$84
$284

$1,011
$6

$78
$197

*WHEN ORDERING, MUST GIVE HYDRANT SPECS TO DETERMINE CODE




Kennedy Valve UL/FM PRICE LIST UA-021012
EFFECTIVE DATE 2-10-12
SUPERCEDED UA-0503 DATED 3-18-05

41/2" & 5 1/4" FIGURE K-12 & K-1211 UL/FM FIRE HYDRANT PARTS (DISCONT'D)

ITEM DESCRIPTION PART# PRICE
UPPER STANDPIPE SECTION
WITH 2 HOSE NOZZLES INSERTED W/CAPS, CHAINS & GASKETS $1,576
WITH 2 HOSE NOZZLES & 1 STEAMER NOZZLE INSERTED W/CAPS, CHAINS & GASKETS $1,910
STEM COMPLETE WITH TOP STEM, PIN, WRENCH GUIDE, & SET SCREW:
FOR 5' TRENCH OR LESS $511
ADD FOR EACH 6" INCREASE $18
BOLT ON ADAPTER WITH NOZZLE, CAP CHAIN & GASKET $200

K 1211 TRAFFIC MODEL

ITEM DESCRIPTION PART# PRICE
UPPER STEM SECTION WITH TOP PIECE & PIN $373
OPEN LEFT PART# 2197642
OPEN RIGHT PART# 2197643
LOWER STEM SECTION WITH WRENCH GUIDE & SET SCREW:
FOR 5' TRENCH OR LESS $199
ADD FOR EACH 6" INCREASE $18
STEM COUPLING 3185522 $93
STEM COUPLING PINS (EACH) 442886P $14
BREAKING RING 3185542 $204
BREAKING RING GASKET 441812P $22
LUBRICANT (12 OZ CARTRIDGE) 441636T $24

NOTE: ALL OTHER PARTS SAME AS FIGURE K-12
NOTE: K12 AND K1211 UPPER STANDPIPE SECTIONS ARE NOT INTERCHANGEABLE

EXTENSIONS FOR K-10, K-10B, K-11 & K12 HYDRANTS

(EXTENSION SPOOL COMPLETE W/STEM SECTION, COUPLING, PIN, BOLTS, NUTS, & GASKETS)

6" INCREASE $590
12" INCREASE $718
18" INCREASE $769
24" INCREASE $902
30" INCREASE $1,138
36" INCREASE $1,218
42" INCREASE $1,251
48" INCREASE $1,452

COLLISION REPAIR KIT FOR K10B, K11 $268



	Cover Pages
	Cover
	Terms
	Warr

	Page 3
	Page 5
	Page 6
	Page 8
	Page 9
	Page 10
	Page 12
	Page 13

